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(eYfT5H "Bretton Woods System" ?(4 points)

(bMa5E "Nominal Exchange Rate" %3 points)

(cY{TTEH "Real Exchange Rate" (3 points)

(AYTER "SR B EA SRESRISE" (8 points)

(o)L "R EFEEERRERBE" (B - FrEfESEFAE ? (7 points)

2. BB RIZIRAVERE » P ISRIT R R e IR - E%‘ESEJJ'F
Rl FOEERY B HR K

(a)E ﬁﬁ“ﬁﬁﬂ%ﬁﬁﬂ?l‘ﬁ% » FEEH—IERRSE SRR ? (4 points)

()& EH(a)NE - FFF ASHL AD g R ESHE) (6 points)

(c)fAI5H "Fisher Effect” 2(5 points) "
(@)EH{#Y CPI »AIARSD? (3 points) =
()FHE ﬁ,ﬁﬁﬁ “L1qu1d1ty Trap" ‘? (7 points) )
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1. Consider a firm whose production function is F(L,K)=K*L
and which 1s us:.ng 10 units of labor and 5 units of capital.
Find the marglnal physical product of labor, the marginal
physical product of capital, and themarginal rate of technical
substitution. Suppose that the firm can hire as many workers
as it wants at the-going wage of $100 per day and can employ
robots at a constant daily cost of $200 each. Is this firm
using an economically efficient input combination? Why?

2. Indicate whether each of the following statements is true
or false. '

a. Every consumption—eff1c1ent allocation of resources is
also Pareto efficient.

b. Every Pareto~efficient allocation of resources is also
consumption efficient.

c. Every production-efficient allocation of resources is
also Pareto efficient. e

d. Every Pareto-efficient allocation of resources is also
productiozi efficient. -

3. The competitive firm is maximizing profit when
a. P=MC and P>AVC -

b. P=MC and P<AVC" s

Co P=MR S

d. none -of the above y-f\* -~
4, Suppose MC=AC=C {a constant) and P=A~BQ describes the demand
curve. What are the monopoly P and Q in terms of the parameters
A, B, and C? What is the deadweight loss from contrived
scarcity? -~ . T :
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T, Suppose the .demand fuhction for good X is.
¥=13+0,1M-0. 4P+0.05P,. When income (M)=$100, P,=$10, and
=520, calciilate the pEice',' cross-price, and income
elasticities .of .demand. Indicate whether the elasticity of
demand is elastic, J.nelastlc or unitary; X is a luxury or
necessity good

6. If the marginal benefit of 'search increases for-the. consumer

looking for the lowest priced car, holding everythlng else
constant,

3. the reservation price will increase.

b. the marginal cost of search must increase to reach
equlllbrlum ,

¢. the reservation price will be unaffected.

d. the reservation price will fall.

7. In the long run, a monopolistically competitive equilibrium
does NOT have the following characteristic: -

a. P=MR
b. P=LRAC
¢. LRAC>MC

d. MR=MC ~ .
. e S

8. The marginal utility of X ig MU=1/(2X) and MU,~2/Y. Income
is M and the pri_ces'of goods X and Y are P, and P,. Then compute
the demand function for-X_in terms of P, and M.

9. Consicier the following duopoly. Demand is given by p=14-Q,
where Q= Qﬂ-Qz. Both f:ers produce at a constant marginal cost
of 2. Find the “Cournot equil:.brlum output and profit levels.
10. Suppose averakt;e"'-‘fr\?ﬂ’an-l:encds.ts of producing gqod X are
constant at $2 per unit; fixed costs are $1200 per month.

Marketing has estimated that at the current price for X (which
involves selling 100 Xs per month) the elasticity of demand
is ~1.5; the current price is $12 per unit. ~

Accounting recommends raising price so as to deal with "the
present loss situation. Production recommends holding at

present output. Marketing urges a price cut and an increase
in'preoduction to match. With which department do you agree,
and why?




s o dw

B o & oAk A8 B AREERRTI
!\-I—lmmﬂiwﬁf?ﬁﬁ?bﬁ:l:ﬁ.{)\m%ﬁaﬁ BE fue

b BRI %ok MR AT R -;LWFF%% -’H
Ve 33 @;, S350 |

4

= %2‘7]1%)\"3% FRAR £ *3a Sﬁq? SR ;}
%vfg /\3"“7\ 633,1;’, 6&;0990%‘*5%%\5\7‘;(& ,!;
FHE 70003, 383% 507935 (A0 % é,aeo i

bE T ?”‘ﬁﬁ W - ;
’ OV Y K e i
%{'R (93//) ~ Qooopov '3}/00,50;\ ¥
k—% (ﬁl " 000,000 " 00,009 | F'.{'(J
3 % R "~ £ooo,bow- X ?‘1:\
"‘%Tk_f% ) . D:oé,ovo -1
Q%‘fu;) o _i.”“ (DO, 000 [tpevo ¢ - |
%t\,D : «_ “ | i 5 4.00 b0
B B T -

MCE TP ST LR P TR
%?%k 2R 7 Q8D




oL md X

B & Hh&KHEFER Al - BRI R
NS EHE AR E AR E SR BHE w2

. ¥ AASHNLRAE, ERD 5% >0 2 aG g ?. DEA
FE R BB b 2w 5 Hagm  BDs5 60wy 421, var)
HERNNEH, AT A RAL : y
0 DR % BIBGR, @ A1 0m A5 4 2 2 54, A

o) FY7RA #4000 gy ENB, g > BB ke ki H
SRR | % ) 1]

0 5AL 5 booo HENB, 343 204 BAE 33 4
AR () SRR R Sl

. _ I

[y

0. GBENRE Y ¢ CiY BF2HA e 1 _ .
B/ A SEREL TN Lo B Ik
WA SHITHED N o BE i

| a8tk 1

B/ p o B (8 %30, LIFF # lboww | L3 MR £ foosm,
ofp bR ek, PAER eomom, LEALEF] o,
b pAB R, YOI R SR R R ol s
agma|, BYesiwi il v T IRELE F it 8, wime |
1H ¥ DR R AR 83 F o 435 28 AL W ARF K A
S

0) §.459 Af A} BBy 200 BL _ -
o) /7] Aol s} BHUy 4000 B oy




wlEns |

LN RN A PR BT e |
 EEEEFRAEIASREREE . NE - BRgE i

BRI T B P o R R R B SRR R B A s = malloc) B free () _ ﬂ '.
SARIERL bfﬂﬁﬂ]ﬁﬁu?lﬂ@ﬂdﬁ@fﬂ{%Itﬁnﬂﬁ%ﬁﬁﬁgﬁﬁﬂ?ﬁ »
merge(): SHMRELL_LZ Blocks i
split(): #— RS VTR AL - ik
searchBlock(): ~SHRNEERIFAR BCE & Block({iik - ‘ ! |'~
searchBétween(): Z23X0 BN FTAKETR Block R IR Blocks< & . )
296(1) AvailablelisBREE[F EE i TEHRE - It
29%(2) BACBRPASCALE %5 AvailableList B R5#5HE - 4
6%(3) BRI First-FinsR| » fFR LA L& AR R AR HE: - ity
5%(4) LAC++2—{BUT T Eclass-hierarchy FARE S, (hpp) ° i

emManagement ‘ generalization ' E
);- < (inheritance)

[Frsigi | i

SRR BEF IS » MdvailableLisi A {5 FRZ RS - BN
A LB 2SR L AR — IR/ Available Listl ISR 2R '

T3 (AR Double linked list 53\ 35 firee Blocks) ° E
AvailableList ] : i
j
lloc . A ' L L1 .
== Bz : — ,}
¢ merge split searchBlock searchBetween l X
=~ Bt Priority Queue R H QMR EIRL linked listFI3E ﬂ i;
2% () SEAMELERE - ' P
3% (2) %kﬂl&ﬁ#ﬁtﬁ*ﬂ’&(@%m}ﬁ*ﬁ(m&m C, or C++) ° .
5% (3) Binsert Z $HEL: < - ‘
= LTINS SR s SRR S RO %
B E R | L.
5% (1) BEEXE - '
5% (2) File system or DBMS & Cache °
5% (3) TEIESHEL -
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L ERBENRER
NI TR TR A B SR

AT R et
BHE | ORI

|

» FiER fERTAR S T RS AR R R+ RRPARER -

5% (1) B-Tree -
5% (2) Ring-Buffer °

5% (3) Divide-and-Conguer °

» 10% (1) CAEIRERBIRREA Inverted file L FA%E °

5% (2) THBIHA MultiList » 5188 Inverted file B -

K~ 5% (1) BRBIESBAL st Tl Array 80405 -

5% (2) T HREEpointer fE1E » FBRRREHANGT ?

EaEtA 27 SR -

A 10010 328 key  HREVER -

* 10% BEEREZR R REEY BARMERL © BRFIERLH T Sorting Algorithm

< 5% LUFExtendible hashing FERHERE » HRE—BbuckeT 4 {Ekeys » BHITE

00 o1l 10| 11
00100 2| 10001 00010 Eﬂ 177770
01000 |~ 10101, 01010
10000 |- 10110
11100 11010

.
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1. (24%) Describe the following terms:

Data model Join operation
Internal schema - System catalog i
DBA Relational calculus
" Data independence Lost update problem 0

2. (11%) Describe database system architecture in terms of components and their functionality.

3.(15%) Read the ER schema, and give a narrative description of its content, Describe ail features
that you can observe. * ’

number
utle
authors (1,n)

. RESEARCH._
REPORT

name
L o S50
o (ille
- phone
w office

AUENCY ?ﬁaféss

NOTATION:
< ]
E |~~-.TOTALPARTICIPATION OFEINR _
—o xxx (1,n) MU'L'I'IVALUED‘K’[’I‘RIBUTE -
- ~ - -
T -

|
|

g

P e

o T ==
R e T e i g

-

o
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NLE 3 EHREHFER R R

Ay N EEEEFERTEE AR SR

FE | ENERE

4. (20%) PR TNATIEIEA TS SRR TAENE » I TIRRAIET, ~ T, -
Ty ZETAE - Ty AR SRR BRN RS ZIRIP » T,00T, SEHRIRE « B
AT RNARBR B B AR TR ER ZIIRPY « TR IOREE - SO s » T, R
FRISARS + R IR - IR TR T SR BRI » B RIS T - By
355y (transaction) EEHFMILEER - MELHA - SHRHERTEA - RATEAZ Sk
ggﬁzwmﬂ:mﬁ$ﬁm~%ﬁmﬁm$ﬁm’&ﬁﬁﬁﬁMﬁmmmﬁﬁﬁlw

5. (15%) FHROFMAZARMIARR (relation decomposition) RUFEHARETMET (dependency
preservation property) ? B {AIEH#ERRRHEE?

B. (15%) THRRUIZEAEITEDRHREHERS - 5 (privilege) AT (propagate) #9738 °
B (Al EE Ak 2R BRR. (horizontal propagation limit ) SAFEE BN (vertical propagation

limit) - .
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s B Ak JE > . T2 TR oA
2 E A A FE B BT e

£ . R B
f\“f"@-;-ﬁﬁﬁ%ﬁﬁﬁﬁﬂ:ﬂ_&l%%ﬁﬁ% BIE : EsEn

() R L (30%)

1. Prpelmmg 2, Prototyping

3. Spooling " 4.FSM

5. Interpreter 6. Virtual memory

7. Serializability 8. CheckSum | o
9. NI ' 10. DMA

(=) M &AL (70%)

1 EEHMERMMISOM & 2 3 HAREIE 2 HMOSIEA MR ? ERERZHA
BT ? .-

1

2. BE&HIT E&ﬁFun(N)z_;ﬂ.ﬁpi:— » 33 HFan(5)Z A8 G 4T 7
Fun(0) = 2, Fun(1) =1 ",
Fun(N) =3 X Fun(N - 1) +2 X Fun(N - 2) for N>=2

3. i*ﬁﬂﬂ?ﬂzﬁﬁmsﬂﬁ%kmﬁﬁT
oLerattJr pnonty
ek 3
*/ 2
+- 1

WASE S XA /B ** C+D*Ec A * CInfix:k 7 i) » » $ Aipostfixk T d:—z»’Lpreﬁx
RTik o EHHLEIREBH o -

4. WA %ﬁ;ﬂ‘i‘% %4—‘?—*&‘-—1’1#13’(:? ¥ ‘1’:.'_5!53»{—‘}‘-(object)ﬁ,n ? 3
#%.58 4944 8 5y (object-oriented) X B4 5 B 4T 7




#HILEX3E
B2 F AR AR R e
i s P R i1 Ll

. Hashing 7 3% 4k M 3£ 55 Symbol Table » %3

EH SR R H S SR AR R R(EE) » A SRR

TR ST A — R R PR EEERE FREE hhAA RS
FiE?

. WA kI E'Q(Ad&r"essing Mode)# 2} % 31 (Absolute Addressing) ~ % 7 2

5 1t (Register Addressing) ~ % 51 % #i(Indexed Addressing) ~ 5. Fp & 3k
(Immédiate Addressmg)& 4% 2 3t (Indirect Addressing) % iﬁi FX o B
Z o

% B 7u{8 symbol, 2% &:A,
AA,C, D, E, Q QA, DD, QAA » B3¢ ASCII 455 | A=41, C=43, D=44,
E=45, Q=51 » 3k A" Hik" 7 % L 517018 symboli A\ — 8 Table Size & 17 44
symbol table Py(#f scollisionsy % 3% 14 Linear Probing ¥ & 1 #555 X) ©

3:?1:‘8::{1 ?llil Circular Queue);%é‘ﬁ'ﬁ(Queue Bk B it ieiT A )R o

| (Quemeri AT AE) SR AR RN TS — ik » AR AT

e B R L AR %M?&'d‘r? -

. WA — ] B2 TR0 )T ARARH] & X WA A(Relational Database)#) £.48 & &

#:4E(Operation) : Selection, Projection, Union, Difference, Join ©




m3Ex3d m

B 3 & #h &g k% Al
NTUBEEFEAETHAZERMNE g

TR TR R
R T BT ST AT

SR

10, 4834 — 2R ERE4% "one address” [i.e. —18 instruction R % — A€ I -F(operand),
2% 1 2] % Moperand, | ¥A Accumulator 4% ], 4R B A T 7 &M% &

instruction, Jt A3} 64 operation Code &-& £4n T &

Instriction L OpICoURY: Wity
LOAD 001 copy the vatue of the word addressed into
Accunmlator (AC)
STORE 010 copy the value of the AC into the word addressed
ADD 011 AC<AC + [Word]
SUBTRACT (100 AC<+ AC - [Word]
BRANCH 101 Jump to the instruction at the word addressed -
BRANCH ifnot|101 If AC <> 0, jump to [word]
ZeTo
HALT 111 Terminate execution

AR F #|— ]\ Ft Program, Initial Values %% &:

[Addr 10] = 00000100
[Addr 11] = 00000100
[Addr 12] = 00000000
[Addr 13] = 00000001
"[Addr 14] = 00000000
[AC] = 00000000 -
# 415 18 Program Y Bl $iT4E %:1% 177

Addr. of Instructign Op code Operand

0 7 . 001 01010
| 010 - 01100
2 001 01110
3 . 011— 01011
4 - 7010+, 01110
s 001 01100
6 ~.100 01101
7 010°——0T100 . _—
8 110 00010
9 111 00000

R e
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BT hEHRER FiRl | EERE IR JE AT
N UBEEFEMELEASIARE | N RIS -

ey

—‘ﬁﬁf’}ﬁﬁﬁ"ﬂlﬂﬂi"é‘ AEE THIT R - (45%)

I.ﬁﬂjﬁtﬁﬁﬂﬁﬁ%%ﬂkﬁiﬁﬁ’ﬂ lﬁﬁ*ﬁ?ﬁZ#%AﬁZ‘E » $RIEE

170058 - BERAFER B E R ERAL (MAPICS) - MERGRZREE AR
& FOETRENRREHURIEE - HARARATENR - SR
SRFRSTR » LFHEMEGITRERR - (15%)

2 . ARG B A SRR AR IR G ? %ﬁztﬁﬁf%ﬁﬂ:-f’ﬁ-—
FBEEENE o (15%)

8. THUEANTERERNY « RS IR A B AT R R RS K R S S AR SRR R
f£58  MEEARRIRE , » "THSHRARETRS » fE8AH
HSRER—EEER T, N R - (REERRTHS R AT -
£15%)

=\ STAEE TEFHE BT AGE ( End-User Computing) | EVTEFESEE -
RN SRR IR T2 T » S-SR E R
fE » AFFETIHEE  DISRER » SARIEUCATALES B PR R ALy
B e C20%)

X—f_\aﬂ,cffg,,( A 4 L K
M@gl‘%ﬁiﬁﬂ Cis%] T

842
@’LM éﬁﬂﬂ.f?{-ﬂw, 2% % }SM’( %ﬂfﬁ’ﬂ
:?%H HMI) mw
Ceapatiliten) a?rém fvf
'E—f:%jw&a Cﬂnfﬁch A ’7§4M’ﬂ I ﬁ%ﬁ
Hinfa 6:2{27 AHAT ook




- \_ * ‘.

- T

) L B/ B%X3H
Bz EARMSE R I OREEBEHENR
NHBEETIRAHIHASESAENE  NE e
1. (10 /}} ) Let A and R be defined by:
"A={1,2,3,4,5,6)
~R={(y) 'Ix-yl=torlx-yl=2} ]
. ) : . 1 :
a.Draw R c A x A as a directed graph, -
b. Is Rc A x A reflexive? symmetric? transltive? . Lot
2.{15 ") Prove that for all nonnegative integers n, -
14+3+5+.... +{2n-1)=n2
3.(15 2 ) Prove thatif the following program is started withxe @ - -
(wis the set of nonnegative integers), it halts with ans = x + y.
m=X _‘ -
n= y .
while {m |=0) {
m=m-1 .
n=n+1 - i
} e— 4
ans=n . ~ -
- + '

4.(10 %~ )Let A={1,2}and B ={2, 3, 4}, which of the following relations

from A to.B are fun-cEtions? d

a{(1,3). @4 b (81,9 {1,325 &i@2,0,49

_—
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B ETHEHREZEHR A E‘—'ﬂ%‘ﬁﬁﬁ&lﬁ?ﬁﬁ?

NHEBFRRRFRASBEE  HE

b # (P, 2)A-BEE Cpack), W EREE 9 (ctam) 5

3#@ (-andi-cRam ) |

b HeF 4 Ff;# (60932  H{Hep A "8 ILF%B!'EI%JM?&J
B .,;pg ﬁ b P9 IR r”'{,ag;s%jﬁr gg B 4% 5B &) ﬁﬂ‘i (N‘)

|6 3’1\ Tyt Tz + La+ Ae= 25 ‘FL‘P 1,70, X222 ,.,Ts)iu

1,23 A B Eg oA Ead aie B2 (194)
‘ L23.u sMEEAF RS

1. 8 #im A8.c.O @ TTF

T

AN e .
3] 1o 9 1 ¢
-B g & 1 1
- e].5 ¥ & S5
D 2 3 & 5 )

e Bk B ? (99)

P o {588 5 HEG (mergesart)
b) ﬂta‘o@ B BN B MEEE . (1vB)

h—— y .
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l ) | B %/ HxSH

T S N ke
NI B S A S B Db

BeHERMERE 5049 _ L _ |
THH ST AR PMBNACAD)=P(B) P(C]B) (6% Y

i Y B4 ¥y =2(2+3)/50§5105£1;ﬁ+ﬁ
2%»(1/42?% 3/4%@1/(55 (b) E(xy BN "
3. T A,B,C E@ 2% il E ’ thﬁﬂﬁﬂﬂ{%o 2,0.3,0.5,
! ﬁﬁﬁzgg Fﬁ%’l%ﬂi § % a,a- B ﬁcﬁb{@= T ki
%mﬁﬁm —g & ﬁ mEareh, BE f
£1.B,C /S R 1%:7':‘? n%%d\?(sf S il
LB T BABBEBEARES, REBRERA M A W A
| %I&:gﬁ%ﬂjt&ﬁﬁ%owm - e
5, ] B BLHO:- 8 =0; 0=0; i
L headieScti ot b SN ﬁﬁmg%& Eﬁm§n2<3 }i
oM — A EATIR,3 IR, SHETHES B, WH AR }
T kel D TR |
17,5 — : HO 510, Hl >10; AIEFE 1 11 B u1=10, 53
. %gzgg%&ﬁ? %“%_m?(sf),) * ’ ’
. awfsmzﬁamﬁmmmu FE R ) A, (5% -
, o .
e $os . - ‘ 1

TR s P B AR R BN A T B30 (i Les) « SRS IAMEREEL T

PERREE B MESRRE. 98 e ~RREK o'=25 EL%I] RERE LR
EHEEAE - MRS s
(a) H:M9KE E‘S[ﬁﬁﬁnﬁﬂu(null hypothes1s)$[]ﬁﬁ@ﬁ%{%ﬁl(altematwe
hypothes is)BEHE? (35)
(b) ¥X 228 » RIESHANSTEEREITIE) - 1: FAREAIRAZ |
135 (Type I Error) A9HSSR o B T HERY 112832 (Type 11 Error) 85557
() -
(¢) BATEEITTTREIT a F0 5 EIRFEY)s - BHARREE a=0.05 » ERELERS
¥ BRI (Critical Region)EEL BRI A EERY T R ARSI
(Sﬁ})

!

o | -




T s REx3xm

- - BREE R IR
B o T A B2 HE  FA ﬁﬂﬂ%ﬁﬁwﬁﬁ?ﬁ%

)\-I‘Ilflmﬂiﬁﬁ%ﬁﬁﬁ:tﬂ)\m%%ﬁﬁ y Y=

-

L aiate FEAHR T —RNBEARGER P RREN - LRHRHRE
) RS/ ERERHE HﬁJﬁZﬁEﬁﬁﬂﬁﬂTi

KEE E‘Jﬁﬁ%ﬁﬁfz(?ﬁ) %Eﬁ%%%ﬁ()\) FIERTR (FI0)
1 4 2 14
2 6 2 16
3 6 4 14
4 7 4 17
5 8 5 18-
6 7 5 21
7 8 6 17
8 10 6 125

(a)
(1 ﬁﬂﬁi‘%*kﬁﬁ‘ﬁﬁﬁ%ﬁ%ﬁﬁzﬁu% s B (central tendency) |
KEHEHFRER - (25
(2) RELFHERER - fFirEHRZEM (Error Sum) ﬁ%zﬁjﬁﬂ
l (Error Sum of Squaure) » (353)

L (3) EEEEE (2) %K@Z%% ° (35}) - , e

() . ‘ L
(1 {Exsﬁuiﬁ)kﬁﬁiﬂ{ﬁzﬁﬂiﬁf:%%ﬁﬁ By ﬁiﬁjﬁ%#&&ﬁ%ﬁ
AMEERR R - (95) v o
@)%ﬁﬁ@ﬁﬂﬁ%ﬁﬁQWM);ﬁmbﬁﬁ%€%%010%ﬁ(5
53). Fyo5(1,6)25.9874; Fﬂus(l 7)=5.5014;F, s(2,6)=5.1433;
S FUU;(E T)=4.4374 ..

(3) ?J%{?@!{R’ (coefflclent “of ‘determination) B{T? (243).
(4) -%%ﬁt(a) @W*ﬁﬁﬁﬁ?ﬁﬂﬁ*ﬁ%ﬁZﬁ (353)

© %ﬁm%-ta mﬁm%ﬁﬁ%ﬁﬂi@@aﬁ&zﬁﬁmﬁmﬁﬁﬁﬂ:ﬁu‘
‘F
_ iEﬁm%ﬁﬁﬁ—04w+dmaﬁﬁ&§ﬁ+OZMEﬁmmw
(1) HEEEEHARME? (35) )
(2) ZERED - SR R LR S (overal TR
BT S B (par tia D EREE? (35))

(d) SEBFAHAE F R AL 250 (b) ST B TR AT R R B A
#Fe o (REHSBROEHRET  ALEFE) (65%)

e i L o
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L

T

0.

2" 1,00

01 " .02

©.03 -~

04"

.05

{046

.07

.08

09

—3.51.0002
—~3.41.0003
—3.31.0005
~321.0007
—3.11.0010
"3"0 0013

~2.91.0019
~2.8{.0026
~2.74.0035
= 2.61.0047
—2.5{.0062
* 24,0082
-2.3|.0107
~<22{.0139
=2:1{.m79
—2.0|.0228

- 1.91.,0287
~1.81.0359
- 1,7].0446
—1.6].0548

~1.5|.0668"
— 1.4].0808,

—~1.3].0968
—12}.1151
—~1.1{.1357
—=1.04.1587

R IRET
~8l219
—.7{.2420
-.612743
_—5].3085

.0002
0003
L0005
20007 -
0009
L0013

0018
20025.
0034
0045
0060
0080
0104
0136
0174
0222

0281,
0351
0436
0537
0655
0793
0951
RIETS
1335
1562

1814
12090
12389..2358
2709 3676. 2643
3050 3015 29812946 2912

0002
0003

0005,

L0006

0013

0018
0024
10033
0044
0059
0078
0102
0132
0170
0217

0274
0344
.0427

0526

0643
'.0773
0934
A112
JA314
. ! 539

(1788
2061

0002
0003
20004
0006

“

0009
0012,

0017
0023
0032
0043
0057
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